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Question Number : 1 Question Id : 544734961 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s false?

& 08 T°6365° DB DR S°EO?
Options:

If f 1s an even function from R to R then f (o) must be equal to 0
o [1R = R 28 28 23005050 ©and f(0) Densd 0 SyFe il

f:R - R defined by f(x) = x — [x] Vx € R. where [x] is the greatest integer not
greater than x. 1s a periodic function
VXER,f:R-R & f(x)=x—[x] ™ 6N f 28 3565 D000 [x]

. OB x AWE), rTes W:J& SULATIVET A

If f: R — R 1s an odd function. then f(o) = 0

, « [:R = R 28 &5 p3oahdoand f(o) =0

Number of onto functions from {1, 2, 3,4, 5,6} to {1, 2} 1s 62

4 % {1,2,3,4,5,6} dooc. {1,2} S 60 Do Dooire Q030 62
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Question Number : 2 Question Id : 544734962 Display Question Number : Yes Is Question

Mandatory : No

The domain of defined of the function f(x) = 2—|x|

1—|x]
2—|x|

flx) = HIAADH DBHAD

Options:

L o [-1,1]U (-0, -2 u (2,)

s x (2,2)U(2,@)

4. % R

1. .

1S

Question Number : 3 Question Id : 544734963 Display Question Number : Yes Is Question

Mandatory : No

For what values of m € N, the following divisibility x + y/x™ + y™ holds

gy, M € N, D Jend0d x + y & Do x™ + y™ &0 2PAROR) &?

Options:
even numbers

RSl ‘éacaasw
1.8

odd numbers

&3 :a::a:}gw
2. ¢
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all-natural numbers

€90 AT WoD
PR ;

only whenm =1
m = 1 g

4. %

Question Number : 4 Question Id : 544734964 Display Question Number : Yes Is Question
Mandatory : No

Which of the following matrix has rank 37

& 308 Jr8E0e° D Aras §8 3 HHS

Options:
8D 3% 22|
11 12 13
112 13 14
1. 8 L 4
D ~—51 T0% ]

51 0 —581
| -101 581 0

2. %
s 3 2]
-1 '8 B
-3 Z B
3. vl :
¥ 2 5
2 4 &
Lul3 69

Question Number : 5 Question Id : 544734965 Display Question Number : Yes Is Question
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Mandatory : No

w 0

If w 1s a complex cube root of unity and 4 = g i ‘ then 4°° =

w 0

1" GI0E), DeSE LDITVIN ‘@’ OPET. 4 = [ = w] eond 4”0 =

Options:

1% WA

3. % A

4% 0

Question Number : 6 Question Id : 544734966 Display Question Number : Yes Is Question

Mandatory : No

If a square matrix A 1s such that (AT - % l) (A —% I) = (AT +% I) (A + % l) =1, where

1s a unit matrix. then A 1s

Aed e args (AT -2 1)(A-§1)=(AT+§-1)(A+% 1) =1 echtnod (|

AP ArSE ), A AT

Options:

Symmetric matrix
RS Arhs
1. % o

3
Equal to - 1

3
— ] 2O DAL
2.8 %
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Skew — symimetric matrix
I8 — FTQD ArHs
3,V ©

equal to = I

=3
— [ % 2AFDI
4, ® 1

Question Number : 7 Question Id : 544734967 Display Question Number : Yes Is Question
Mandatory : No

The system of equations 2x + 6y = —11, 6x + 20y — 6z = -3, 6y — 18z = —1 are
2x + 6y = —11, 6x + 20y — 62 = —3, 6y — 18z = —1 PNEde DR

Options:

Inconsistent

e D T (e90005930)

Consistent with unique solution

5 % DTS FBD Gotod

Consistent with countable infinite many solutions

- FE Golt (RoABR), §8)0t00h VoI J Ve Gotrow

Consistent with infinitely many solutions
4w TOD G0l (RoMBR), Bod G EotTo

Question Number : 8 Question Id : 544734968 Display Question Number : Yes Is Question
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=5 -1 -4 2| whatisd"B=?

-1 -2 -3
-1 0 0 3

)2 3 B 1]
. 4 0 -3
LetAz[l ! 2‘3:[ l.c

(2 =2 B 1]
B o 4 0 -3
Azll 1 2‘.B=[ ‘46: 5 —1 -4 2|eondA’B=?

=1 B 9 3
Options:
[ & @ =3
-7 —6 —6
vl 3 =g =18

AT B is not defined
, x A'B DDA

ol =9 & |
8 & .8
. ul-3 12 8|
T
42 AAB=0

Question Number : 9 Question Id : 544734969 Display Question Number : Yes Is Question
Mandatory : No

If z is a complex number. the curves |z| =1,|z— 2| = 1and |z — 1| = 0 have a common
point at

Zus "fouég R0, 1z =1,|z—2| =1 208050 |z - 1| = 0 3 S5 eméd Dot

Options:

3y - (ZrO)
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3. Y 4 (1: 0)

4, *® (0: 2)

Question Number : 10 Question Id : 544734970 Display Question Number : Yes Is Question
Mandatory : No

Let z = x + iy be a complex number ( x,y € R). Let A and B be two sets such that 4 =
{z:|z| <2}andB={z: (z+2y)+z = 4} the are of region A N B 15

z=x+iyus “dnégﬁc@ﬁ (x,y ER) A 200050 B &3 dabedoew A ={z: |z] <2}
2080k B ={z: (z +2y) +7 2 4} eabirnot . AN B Ardedd 933 ST0[S0

Options:
1.% 4
2. % T—4
3, 8
4‘\&;.1?—2

Question Number : 11 Question Id : 544734971 Display Question Number : Yes Is Question
Mandatory : No

Let z = cos 6 + i sin 8. Then the value of Y1, I, (z*™ 1) at @ = 2°is

z = cos @ +isin f FD\HDD 6 = 2° 3¢ YL L (z2m1) Dend dodd?

n=1

Options:

1. 8

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

3 % 28in2°

: 0
i 4sin?2

Question Number : 12 Question Id : 544734972 Display Question Number : Yes Is Question

Mandatory : No

2

The equations x* — ax + b = 0 and x* + bx — a = 0 have a common root. then

X2 —ax+b =0 28050 x2 + bx — a = 0 DNESTOL G306 AAPOBE.

Options:

Question Number : 13 Question Id : 544734973 Display Question Number : Yes Is Question
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200 2009
2 9 + ﬁ o

If @ and f are the roots of the equation x“ —x+ 1 =0 then a

X2 —x + 1 = 0 2DEBETIS a 2805w f e darergd, a2’ 4+ 0% =
Options:
1, % —2
2. % —1

3. 1

4.% 2

Question Number : 14 Question Id : 544734974 Display Question Number : Yes Is Question
Mandatory : No

: Q(2x) 56
Let Q(x) be a polynomial of degree n. If Q(1) = 1 and oGt 1) Yo 8 = 0. then the

value ofnCB + "Cl + 4 nCn - -

R o Q(zx} 56 s
Q(x)&:énbédﬁe?wmo&Q(l)-l&JﬁOﬁDQ(“l)er” 8 = 0 900

n n Ny
Cy+"C,++"C, =

Options:
1. % 32

2. x 6%

3.« 8

4. % 16
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Question Number : 15 Question Id : 544734975 Display Question Number : Yes Is Question

Mandatory : No

Suppose that the equation ax” + bx + ¢ = 0 has roots @ and f. both of which are different

1 ; 1 x
from -; then an equation whose roots are and ——1s

3a-1 3p-1
v 2 B2 Looar +br+c=0 Dot Arerod, —— 20a50 —— 00
3° 3 ks 7 3p-1
LATEPRDTPAY RVEGESD
Options:

‘I x\.94.(1:1+3bJr‘Jr:)Jt:?‘«l»(31:v+2a):t:~+~4r1:[}
o (@a+3b+9c)x*—Bb+2a)x+a=0
3 % (a+3b+9)x*+(Bb—-2a)x+a=0

4 % (a4+3b+9)x*—(3Bb—2a)x+a=0

Question Number : 16 Question Id : 544734976 Display Question Number : Yes Is Question
Mandatory : No

Statement I: The number of ways of distributing 10 1dentical balls in 4 distinct boxes such

that no box is empty is T 3

| L - .9
Statement II: The number of ways of choosing 3 places from 9 different places is “C 3

20 6% I: T DD DO’ D w8) DO PO Gorssder 10 2,8 DED wodoww
°C, D 3wenrr Doisivsy.

0363 TI: 9 9D3) pBawS* DT 3 Hisawey €, Ddweurr dv) & o
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Options:
Statement I 1s true, statement IT 1s true; statement II 1s not a correct explanation for statement I
1 DOF 000 T 208050 1T e A2, 570 AT G0 I HEFEHE0 1 & Eyb6eE

Statement I 1s true, statement II 1s false
5 % DA I D20 57 11 d2d0 5°¢0

Statement I 1s false. statement II 1s true
3 % 2OTG330 I D2 5760 57 1T J2edw

Statement I 1s true, statement II 1s true: statement II 1s a correct explanation for statement I
4 s D06 T 0050 I 02 dadw, HOFGHA [ DTG0 T & 6)206R0ed

Question Number : 17 Question Id : 544734977 Display Question Number : Yes Is Question

Mandatory : No

The sum of mntegers from 1 to 50 that are divisible by 2 and 3 15

1 Aoc. 50 HEL (o DD :boagsve‘i“ 2 0005w 3 vd grhodiest: Roe ASAW

Options:
1 % 316

5@ 6

2 u B0

4 % 45
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Question Number : 18 Question Id : 544734978 Display Question Number : Yes Is Question
Mandatory : No

The solution set of SCx_l =, (SCI) 1S

"Cr-1 > 2. (°C,) 030E), FGD DS DB?
Options:
1. % { 1r 2: 5 ]

, » {2,3,5)
5. o153

. u ELAS)

Question Number : 19 Question Id : 544734979 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s an improper rational traction?
& 808 T¢5° DB DS 9SBHODH HDDORSAN?
Options:

x*+1
;% (@ +2)(x*+x+1)

x> +1
ol (x+3)(x*—-x+1)

x
(x* +3x+1)

3, %
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~ R o |

4.0 %1

Question Number : 20 Question Id : 544734980 Display Question Number : Yes Is Question
Mandatory : No
cos® 10° + cos® 50° — sin 40° sin 80° =

Options:

Question Number : 21 Question Id : 544734981 Display Question Number : Yes Is Question

Mandatory : No

If @ + [ = y then what is the value of cos” a + cos® B+ cos? y =

a+f =y wand, cos? a + cos? f + cos? y Dend HAFHA0HE

Options:

3

1+ 2 cos®a cos® B cos®y

1. %=

, x 1+2 cos?a cos?f cos?y
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, »1+2cosa cosf cosy

. x 1t4cosa cos 5 cosy

Question Number : 22 Question Id : 544734982 Display Question Number : Yes Is Question
Mandatory : No

4

The equation sin* x + cos* x = a has real solutions, then

sin® x 4 cos* x = a DASCITIS TVD Jureren Gobl.
Options:
S

1 g A=
1. % 2

1 »
?"_iail
2. ¢

Question Number : 23 Question Id : 544734983 Display Question Number : Yes Is Question

Mandatory : No

The solution of the equation [sin x + cos x]1T5"2¥ = 2 where -7 < x < 7 is

— € x < 1 YA [sinx + cos x]1HSINZY = 3 &y oy Feesd x =
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Question Number : 24 Question Id : 544734984 Display Question Number : Yes Is Question
Mandatory : No

In a triangle ABC. 2ac sin—é-(A — B +C) =

ABC $zo2:206° 2acsin—-(A— B +C) =

Options:
a? + b? + ¢?

1. %
, u @2 Fbo—e*

i u B

Question Number : 25 Question Id : 544734985 Display Question Number : Yes Is Question
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In triangle ABC. a = 6em, b = 10cm and ¢ = 14cm. Then the sum of the acute angles of the
triangle 13

ABC $zbnaw®’ a = 6cm, b = 10cm 208050 ¢ = 14cm e &8 SZHadns' vy
e Andaw

Options:
. % 180°

5 u 1207
3, % 90°

4« 60°

Question Number : 26 Question Id : 544734986 Display Question Number : Yes Is Question

Mandatory : No

St 2B
If *P" 1s a pomt on the equation AD of the triangle ABC. and ZABP = ? then AP 1s equal to

- _ - 2B
ABC Gebatoos” AD. 4 d0d BC & w0t ‘P'. AD p Dot dnotwy LABP =—

008, AP 8 VACANNG
Options:
B

C sin—
1. ® 3
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B R

Question Number : 27 Question Id : 544734987 Display Question Number : Yes Is Question
Mandatory : No

ABCD 1s a parallelogram such that L 1s midpoint of BC. then AL is equal to

ABCD 28 235080 éa:mbasmaé* BC o), 206 Dodd) L eoond AL & SEVLIA

Options:

el |
DC +—AD
1.¢ 2

1 ; .u
?AD + BC

2. %

1 e »
?AD—FDL

3. %

1 _ ;
?AD+BL

Question Number : 28 Question Id : 544734988 Display Question Number : Yes Is Question
Mandatory : No

The number of values of m € R for which the vectors i + 2j + mk and i + mj + 2k are collinear 1s
[+ 2] +mk &80k i +mj + 2k HB%L HIDAFLL STV M AWS), T ewden A ?

Options:
1. % 2
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3.v 1

Infinite
4 % VVoBo

Question Number : 29 Question Id : 544734989 Display Question Number : Yes Is Question
Mandatory : No

If ABCDEF is a regular hexagon, where two adjacent sides AB and BC are @ and b

respectively. Then CD 1s

ABCDEF e 2,8 $30 2o 26" Botd 83) zbadwen AB =7 08w BC = b o
0and, CD & RATFSHB

Options:

v b-a
L« @+b
3, % a—b
4 % a+2b

Question Number : 30 Question Id : 544734990 Display Question Number : Yes Is Question
Mandatory : No
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—

a,b,c are three vectors such that | @ | = 3. I b | =4,|7|=5mdT +b +¢ = 0. then

—

I

!

oy [
.b 1s equal to

—_

@,b,C 0363w |7 |=3.|b|=4.|C|=5 wwad +b +¢ =0wwd7.b &

ARG

Options:
12

1.%

Question Number : 31 Question Id : 544734991 Display Question Number : Yes Is Question
Mandatory : No

Leta,b and ¢ be non-zero vectors such that (a X b) Xe = §|b I Ic’| @ If 6 is the acute

angle between the vectors b and ¢ then sinfl =

S8 0800 T, b, T 0 (T x ) xT =[] [F] 308atw b, T v 06 o
00 S0 0 o sinf =

Options:
1

1.8 3

2
2. %8 3

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 32 Question Id : 544734992 Display Question Number : Yes Is Question

Mandatory : No

fa=x"i+xj+3kandb =xi—4j +2%kand@.b > 6then

T=xT+x] +3k,b =x1 —4] +2%k 28007 .b > 6 ©od

Options:
1« XER

, % X € (—,0) U (1, )

3. w X E (_._ml _._2) U (2, OG)

Question Number : 33 Question Id : 544734993 Display Question Number : Yes Is Question
Mandatory : No

If @b, be 3 non-coplanar vectors and (@ — b ). (b —27) X (¢ +2@) = 0 then 4 =

—

@b, d6%e0 wadaired 2080 (@ - b ).(b —27) X (€ +2@) = 0 wowd 4 =

Options:
(P

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 34 Question Id : 544734994 Display Question Number : Yes Is Question

Mandatory : No

The mean of set of ‘n” numbers when each in divided by 5 1 Py then mean of the ‘n’ number 1s

 §
n’ "rooa,aﬁvm 5 @ erfotdr SNV ‘6&0&,350 .mc,sﬁmma P Lo, ‘n’ rona,aﬁv mc;sman

Options:
1,% 9 X

Question Number : 35 Question Id : 544734995 Display Question Number : Yes Is Question
Mandatory : No

The mean of the squares of first ‘n’ natural numbers 1s

220G, ‘n’ D "fona)sv STV mésman doeh?
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Options:
[ n(n+1) ]
1. % ‘

2n®—3n+1
2 ® 6

2n®+3n+1

3. ¢ o

n(n+1)(2n+1)

4. % 6

AP EAPCET 2021

Question Number : 36 Question Id : 544734996 Display Question Number : Yes Is Question

Mandatory : No

. ; 1 3 1
If A and B are mutually exclusive events with P(4) = . and P(B) = . Then what is the

value of P(A/AVUB) =

1 3
A 00030 B ) 6RO 31‘)2@ 2obdew. P(A) - 8ot P(B) = v eowd P(A/AUB)

QR0 Qoeh?

Options:
F 4

1.v 19

12
19

06
19

AP EAPCET 2021
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13
4. % 19

Question Number : 37 Question Id : 544734997 Display Question Number : Yes Is Question

Mandatory : No

Let A, B, C be three events associated with sample space S. A, B, C are pair wise independent
and P(4) = P(B) = P(C) = P. If all of them cannot occur simultaneously then
P(AUBUC) =

§ &% Fod8 ©56mod” HERYG A dod wdak 4, B, C 0 P(4) = P(B) = P(C) =P
2080500 & 3 MW 28I 266 ITS P(AUBUC) =

Options:

_ ¥ -1 —P)°
, v 3P(1—P)
3, % P

4, % 3P

Question Number : 38 Question Id : 544734998 Display Question Number : Yes Is Question

Mandatory : No
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Events A, B, C are mutually exclusive events such that P(A) =

o . : : ;
y The set of possible values of x are i the mterval

=—and
4

P(C) =

1-2%

A, B, C 00 56016 380 obdodr P(4) =
9000R) X 2LV

Options:

[1 1]
v @ Rl

[1 2‘
5 % 33

[1 13
3. R

4 = [0,1]

Question Number : 39 Question Id : 544734999 Display Question Number : Yes Is Question
Mandatory : No

When employees with smart phones are randomly selected. 50 % use them for office purpose.
The probability that out of 10 users exactly 2 of them use for office purpose 1s

T8 Fdowo ¢ &8{(1R0e0 SodoB alreysor i) EANYE, T8¢ 50 %
2008 B B Hrw 6L DAAPATT) . 10 D0d T T8 86° pydorr
96 3070 D3 DA Ao 20738 ods?

Options:

10
1. % .
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Question Number : 40 Question Id : 5447341000 Display Question Number : Yes Is Question
Mandatory : No

If X is a poisson variate such that P(X = 2) = P(X = 3).thene®. P(X = 4) is

X 03 Jonad grovd P(X =2) =P(X =3) LUV e®.P(X = 4) ded DB?

Options:

LB

Question Number : 41 Question Id : 5447341001 Display Question Number : Yes Is Question
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Mandatory : No
For two pomnts A(2,1) and B(1,2). ‘P’ is a point such that PA : PB = 2 : 1. then locus of
P 1s

A(2,1) &80 B(1,2) Doty ‘P S Dotidid) PA : PB = 2 1 D 0D, P
oti:3) DodDBAN

Options:

, % 3x% 43y +4x 1+ 14y —15=0
Y, 3x2+3y? —4x—14y+15=0

5 3x24+3y2+2x+7y+13=0

4 %343y 2% -y —13=10

Question Number : 42 Question Id : 5447341002 Display Question Number
Mandatory : No

The equations of sides AB. BC and CA of a triangle ABC are 2x +y =0, x +py =qand x —

y = 3 respectively. If P(2,3) is its orthocenter. then the value of p + g equals

2x+y=0.x+py=q 20000 x —y = 3 e G ABC Gzbadw aws) AB. BC
208080 (4 ZHereiy Ardar. 2005 &) votdedaw P(2,3) wond, p+q Jwvd

Options:

2. % 47
3. % 65

AP EAPCET 2021

: Yes Is Question
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4. % 74

Question Number : 43 Question Id : 5447341003 Display Question Number : Yes Is Question
Mandatory : No

A line ‘L’ through A(—5,—4) meets the lines x + 3y +2=0.2x+y+4=0.x—-y-5=0

o B and D ety F () +(22) = () then i the et 1
at poinis o, L and U 1especiively. 1B iC = D) I€11 1nd e equation o ;

A(=5,—4) Dot oot J'ah ‘L’ 0D ws AOWBD x +3y+2=0.2x+y+4=0.x -

15\2 [10\% (62
y—5=0 8080 SR B. € Ldakn D Dot ag a,::oc’.'_"rar. (—) +(—) :( )

AB AC E
00008, ‘L’ HDEGEA

Options:

o 2x+3y+22=0

> % XX—4y+7=0

3 % 3x—2y+3=0

Question Number : 44 Question Id : 5447341004 Display Question Number : Yes Is Question
Mandatory : No

. . :
A straight line — - % = 1 passes through the point (8,6) and cuts a triangle of area 12 sq.
a

units from the axes of coordimates. The equations of the straight lines are

25 0 % = % = 1 DotdY) (8,6) Moot T'dr exrwd 12 w)j0hrde DTV (10
ZarD) Do\ 500) &, O & B VEEET
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Options:
1 % 3x+2y=12 & 3x+8y =24

, @ 3x—2y—12=0 & 3x—8y+24=0

3 % 2Xx+3y=12 & 8x+3y =24

4 % 2x—3y+12=0 & 8x+3v+24=0

Question Number : 45 Question Id : 5447341005 Display Question Number : Yes Is Question
Mandatory : No

If a straight line through the point P(1,2). which makes an angle 45° with the x-axis, meets
the le 3x + 4y + 5 =0 at (. then length of PQ equals units

x-05308 45° E00 BAP, P(1,2) Do) Mot F'ad w8 H6¥8 3x +4y +5=0
© 2088 6B § Qoo ¢ Mt PQ TeY LRI

Options:

162
1.¢ 7

~ |G
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Question Number : 46 Question Id : 5447341006 Display Question Number : Yes Is Question
Mandatory : No

The distance between pair of parallel lines represented by x* + 2xy + y* — 8ax — 8ay —
9 =0 1is units

x% +2xy + y* — 8ax —8ay — 9a* = 0 Garasorf ArWor Nreddd Sr) 206 (o
Ar6A0 LRI

Options:

Question Number : 47 Question Id : 5447341007 Display Question Number : Yes Is Question
Mandatory : No

The angle between lines represented by (si112 rr) y? - 21‘_1*({‘032 n'] + (a:t}s;i - 1]:(2 =015
(sin® a)y? - 2,1'_1f(c032 @)+ (cos” & = 1)x? = 0 oedgteadn Wrdotd B Vel PRI

Options:
1, % 2@

3, v 2
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4. % 4°

Question Number : 48 Question Id : 5447341008 Display Question Number : Yes Is Question
Mandatory : No

If the lines x% + kxy +y? = 0 and x + y = 1 make up the sides of an equilateral triangle.

then the value of k? equals

4 kxy +y% = 0 0808 x + y = 1 00 Ardotd REVEDD w8 Vo Gzhadw aos)
O i)cs)c‘.a. k? dend

Options:
1. % 4

2 « 16

3.% 9

4. % 64

Question Number : 49 Question Id : 5447341009 Display Question Number : Yes Is Question
Mandatory : No

If the product of the perpendiculars from origin to the pairs of lines xy+x+y+1=0,

v =y +2v+1=0and 2x* + 3xy — 2y* + 2x + 1 = 0 respectively are p;. p;. ;. then

SurDotdd) Aow) AEUGEraMIe xy +x +y+1=0,x% —y? +2x+1 =0 daw
205 430y =2y + 2x + 1 = 0 0% (o votrw VEPRD SO Py Py. P3 ©OND,
$00TS’ DB dwAw?

Options:
;ouPa<Pi<Ps
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5 8 PE<Px=Pp
3 o P3SP2<P

4 8 P2<P1%=P3

Question Number : 50 Question Id : 5447341010 Display Question Number : Yes Is Question
Mandatory : No

If the lengths of the tangents drawn from the point (1,2) to the circles X2 + y2 +x + y—4 =

0and 3x® +3y* —x—y—-A1=0areintheratio 3 : 4. then A =

(1,2) Dochosd) o) x> +y* +x+y—4 =080 3x* +3y° —x—y-1=0 0%
AR 0y6\8a00 Teen 3 4 A3 &) owd, 1 =

Options:
23
1.8 4

Question Number : 51 Question Id : 5447341011 Display Question Number : Yes Is Question
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If the length of the tangent drawn from the point from (-2, 3) to the circle x* + y* + 8x —

6y + k = 01s 4 units. then k =

(=2,3) Dockoz) 00D x* +y? +8x = 6y + k = 0 3578 Ad3 063 Tk 4

05w ond, k Jewsd

Options:
1. % 34

2. % 36

3 % 38

Question Number : 52 Question Id : 5447341012 Display Question Number

Mandatory : No

If two diameters of a circle of circumference 107 lie along the lines 2x + 3y + 1 =0 and

3x —y — 4 = 0. then the equation of circle 1s

107 cotw S8 o) 2,8 S)B80 3E), Totd aoSavum 2043y +1=0 308050 3x —y-

4 = 0 97 Boty HOVEDLY APDD. & SN DDSEEA

Options:

. x2+y24+2x—2y—-23=0

5 ¢ Bk =2F Ay 28 =0

s x X +y*+2x+2y—23=0

4. %
AP EAPCET 2021

: Yes Is Question
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x> +y*—2x—2y—-23=0

Question Number : 53 Question Id : 5447341013 Display Question Number : Yes Is Question
Mandatory : No

The lengths of the tangents from the point (1,2) to the circle x** + y* + x + y—4 =0 and

3x% +3y% —x — y — k = 0 are in the ratio 4: 3. then the value of k is

(1,2) Dociod) Aol x> + v +x+y—4=0 2080 3x2 +3y* —x -y -k =0
TV (v ';030')6330 TR0 4:3 Q'QDQ &’ &0t k end

Options:

Question Number : 54 Question Id : 5447341014 Display Question Number : Yes Is Question
Mandatory : No
If the circles x* + y* —6x -8y —12 =0 and x* + y* —4x + 6y + k = 0 are

perpendicular to each other. then ‘k’ equals

x2+y? —6x — 8y — 12 = 0 208080 x2 + y* — 4x 4 6y + k = 0 Hy5ren 250988

080 0G0t k' DD
AP EAPCET 2021 _
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Options:
1.% 4

Question Number : 55 Question Id : 5447341015 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a circle which passes through the pomt (1, 2) and the points of

intersection of the circles x% + v —8x —6y +21 =0and x* + y? - 2x =15 = 0.

x% 4 y% —8x — 6y + 21 = 0 280k 1% + y* — 2x — 15 = 0 3570 Dot DotdHv
ot B, 508050 (1,2) Dod) fot ok 9y8 HEGE

Options:
e X+y:—6x—4y+9=0

, % X2+ y2—18x — 12y +27 =0

3 x 202 +y*) —18x + 12y +27 =0

4 ® 4(-‘52 + }’2) —3x+12y+16=0

Question Number : 56 Question Id : 5447341016 Display Question Number : Yes Is Question
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If x — 2 = t2. y = 2t are the parametric equations of the parabola y? = a(x — b). then the
value of a + b equals

x—2=thy=2tey? =a(x - b) Ho30000 A, Ho DS NECETL LS,
a+ b dend

Options:
1.% 4

2.5‘&2

3.3"50

4.¢ 6

Question Number : 57 Question Id : 5447341017 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the ellipse which passes through the points (=3, 1) and (2 ,—2). whose

center lies at (0, 0) and major axis lies along the x-axis.

(-3,1) S0B0%0 (2,-2) Dockosdy oot e, (0,0) 3¢ Som) SBato x5 s
Boed) $9A eol BG83 g HSEEAN

Options:

, o 3x% +5y* =32
5 x 5x% +3y% =32
3 # 5x%—3y*=32
4w 3x° +5y° =132
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Question Number : 58 Question Id : 5447341018 Display Question Number : Yes Is Question
Mandatory : No

The harmonic conjugate of the pont (2,3 ,4) with respect to the points (3,-2,2) and
(6,17 ,—4)1s

(3,-2,2) S000sw (6,-17,—4) Dot 5@5 (2,3,4) Doty a0, irT°8) S
Roakof] Dot

Options:

(18 . 4)
1-';;? 5 ] I5

Question Number : 59 Question Id : 5447341019 Display Question Number : Yes Is Question
Mandatory : No

If three consecutive vertices of a parallelogram are A(4,3,5),B(0,6,0) C(—8,1,4) and D is

the fourth vertex. then the angle between AC and BD is

28 DATOBE AN BI S e FTen SER A(4,3,5),B(0,6,0) C(-8,1,4)
SBasn D T 3¢ eod V0¥ Baew AC 280k BD o Sdsj & e

Options:

Cos'l( 9 )
V149161

1.8
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, V15161

, » O ()

Cos'l( H )
4 % V149161

AP EAPCET 2021

Question Number : 60 Question Id : 5447341020 Display Question Number : Yes Is Question

Mandatory : No

The angle between the lines whose direction cosines are given by the equations [* + m* —
n=0.l+m+n=0is

Z4m?—n2=0,14+m+n=0D086os ardoswd 85 &/ v 5o 36

a0

AP EAPCET 2021
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Question Number : 61 Question Id : 5447341021 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a plane. given that the foot of perpendicular drawn to the plane from
originis (2,1,2).

27r0D0ER) Qo) & BB DEE ADS Vo eAw (2,1,2) wond. ¢ dv
PRVEGEA0 BLVLY)A.

Options:
1 #3X+y+z=2©6

x X+ty+z—-5=0

3 % 2=y —pe= =g

Question Number : 62 Question Id : 5447341022 Display Question Number : Yes Is Question
Mandatory : No

1 — " —a

If lim _ = ,then a =
n-o 1+ (10)"** 10
1—(10)" —a
lim ( 0D, a =

s—m 1+ (101" ~ 10

Options:
1.% 0

2, % —1

3. ¢ 1
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Question Number : 63 Question Id : 5447341023 Display Question Number : Yes Is Question
Mandatory : No

¥ 3 6
lim ( )
x—0 \X+1

Options:

Question Number : 64 Question Id : 5447341024 Display Question Number : Yes Is Question
Mandatory : No

t
lim _ 5 1+ x T =
x— 0t CDS_I ( 1 —x )an_l ( 3x — x )

1+x%)°° 1 —3x*

Options:

1

1. % 2

1
2.# 3
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Question Number : 65 Question Id : 5447341025 Display Question Number : Yes Is Question
Mandatory : No

2

d ] X X
Find the value of k" if = » = k sec (?) tan (?)
X 2+\j2+\/2+2003(4x)

\ J

2

» = k sec (%) tan (-21) wod, ‘k’desd

de| 24 JZ +4/2 + 2 cos(4x)
L J

Options:

Question Number : 66 Question Id : 5447341026 Display Question Number : Yes Is Question
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Mandatory : No

If 2f(x) — 3f () = x + 1. then ' (V3) =

2f(x)—3F (%) = x + 1 ©00a. f’(v’?) =

Question Number : 67 Question Id : 5447341027 Display Question Number : Yes Is Question

Mandatory : No

A function f: R — R satisfies the relation f(x+y) =f(x)-f(y), V x,y €ERand f(x) =
0,V x €R.If‘f is differentiable at x = 0. f'(0) = 4 and f(6) = 3. then f'(6) =

f:R = R 9000w x,y € R0 f(x+y) = f(x) f(y) & dyad0der &od. x € R 00
f(x) % 0 208080 x = 0 368 *f* edvsoaw. f'(0) = 4 2Bk £(6) = 3 Lad,
oW f'(6)=__

Options:

. %0
2. v 12
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Question Number : 68 Question Id : 5447341028 Display Question Number : Yes Is Question
Mandatory : No

: - p— o d
If f'(x)=v2x%2—1 and y = f(x?). then find the value of :i{- =1,

F'(x) = V222 — 1 20800 y = f(x3) eawd, x = 1 3¢ — Dewsd

dx Tt

Options:

1. % —1

2.¢ 3

Question Number : 69 Question Id : 5447341029 Display Question Number : Yes Is Question
Mandatory : No

If f(x) = kx® —9x% + 9x + 3 (k > 0) is increasing for all x. then

DA x QAL f(x) = kx® — 9x° 4+ 9x + 3 (k > 0) 8B iraoond,

Options:
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| ] sl |

4. % 1<k<3

Question Number : 70 Question Id : 5447341030 Display Question Number : Yes Is Question

Mandatory : No

The maximum value of y = x (log x)? is

y = x (log x)* cdws), (8% Dewd

Options:

1% €’

Question Number : 71 Question Id : 5447341031 Display Question Number : Yes Is Question
Mandatory : No

The point on the curve y = x*, at which the tangent to the curve is parallel to the x-axis. is

(-0T8 DrodCor. y = x° 58 10 0y6\3) A8), Dy, Dok

Options:
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> % (3,3)

4.v(0,0)

Question Number : 72 Question Id : 5447341032 Display Question Number : Yes Is Question

Mandatory : No

Find the area of the triangle formed by the x-axis and the tangent and the normal to the curve

IZJHV2 1 attl 'r(a b)
o g e 2 LU HIE DOML | == == ],
az b PG V2

= _ fa 1B 5 _
; + ; —3; | ;jg;ﬁ,uﬁ (ﬁ ,E) EUOQJQ_) :}Q A ﬁ)ﬁﬁ&) 0030 @EDUGEJ Ga0en 1 -w&.:mé‘

Dcs)aa Szban g, STV
Options:
ab ;

; T\r"ﬂz-sz
%

> % 4ab

b |
..z @(a2+b2)

Question Number : 73 Question Id : 5447341033 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

Mandatory : No

el



If f(x) = x%logx and f(0) = 0. then the value of *a” for which Rolle’s theorem can be

appliedin [0, 1] 1s

f(x) = x"“log x 08050 f(0) = 0 @and. [0, 1] WodbeS” & NErodo WO Breatvot]
@

‘@’ DR

Options:

AP EAPCET 2021

Question Number : 74 Question Id : 5447341034 Display Question Number : Yes Is Question

Mandatory : No

11’3*1’2+x—~1
x—1

dx

Options:

x3

———x+4+c
3

AP EAPCET 2021
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4 % 2X+tc

Question Number : 75 Question Id : 5447341035 Display Question Number : Yes Is Question
Mandatory : No

o

Tan"1(x)

; 2
The value of ’ Sec 114 x%) +Cos7t dx forx > 0is
T SO

Tan (x)

1+ x?

2

-

14 x2

e , 2
x>0 & f (Sec‘1 J1+x2) +Cos™* (

Options:

Tan 1(x) -1 32
Tz
;@B (Tan " x)*“ + ¢

Tan *(x) -1 .
5 3 @ (Tan™*x) + ¢

3 eTa @) (Tan-1x)3 4 ¢

4% a1 (Tan 'x)* + ¢

Question Number : 76 Question Id : 5447341036 Display Question Number : Yes Is Question
Mandatory : No

—

s 1/7 -
If J Vx [1 + Zg} dx = A (1 + ifr.r“) + C ,then value of AB =

f{ﬁ-‘ (143)  ax=a(1435) +coms aB=

Options:

1.8
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Question Number : 77 Question Id : 5447341037 Display Question Number : Yes Is Question

Mandatory : No

J’ w.f'?sin:r o
X
. : T
5111(1 +_—4)

Options:

x + log [sin (1‘ = %)‘ +e

-

: & x — log Isin (1 = %)' . g -
. T

n x + log Ism (1 +T)| + e

il x — log |sin (_1' -i-%)‘ gl

AP EAPCET 2021

-

el

collegedunia:

India’s largest Student Review Platform



AP EAPCET 2021

Question Number : 78 Question Id : 5447341038 Display Question Number : Yes Is Question
Mandatory : No

T
’" xtanx

secx +tanx

dx =

0
Options:
mw(mr—2)

.4 2

Question Number : 79 Question Id : 5447341039 Display Question Number : Yes Is Question
Mandatory : No

b
- d:’(
If b > a,then J : _ _ =
v Vv —a)(b—x)
b
; dx
b}ae.eoné,’ — =
Hor—a)lb—x)

a

Options:
T

1.% 2
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Question Number : 80 Question Id : 5447341040 Display Question Number : Yes Is Question

Mandatory : No

. . : dy x+y

Solve the differential equation: S8
dy iy
——=e ) osgen DEBLIBVDL FE
Options:
1 % e*+e¥ =c

- TS,
, x € —el=c
s x€ +teV=c

4oE —er=¢

Physics
Section Id : 54473420
Section Number : 2
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes

Clear Response :

Question Number : 81 Question Id : 5447341041 Display Question Number : Yes Is Question

Mandatory : No

Which of the following pairs of physical quantities possess same dimension?
808 T'OS TR 2BVS” 28 WAF W) SHHJD DD?

Options:
Force and surface tension
(A3t Publelonth) e‘_'soe:ﬁa‘asej

b ™

Frequency and velocity gradient

5 #a@qm 208030 DS

Angular speed and solid angle
., Sedod H& Hodasn o St

3.
Stefan’s constant and Plank’s constant
DS V"SI HBASW Fro§ VT"eSIW
4, % ‘

Question Number : 82 Question Id : 5447341042 Display Question Number : Yes Is Question
Mandatory : No
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A train travels from city-A to city-B with a constant speed of 18 m.s™* and returns back to

city-A with a constant speed of 36 m.s™*. Find its average speed during the journey.

18m.s™ 20 SGE" 28 e A 316w o B Aiord$ pasredod, 80A 36 m. g "
OGS A H1TS SOID. 0B A0FAw B PAFHANE” T e KTRB 6. Jod?

Options:

72 )
el (-
1. % 5

1

Question Number : 83 Question Id : 5447341043 Display Question Number : Yes Is Question
Mandatory : No

What 1s the angle of banking of a railway track of radius of curvature 250 m. if the maximum
velocity of the train is 90 kmph? (use g = 10 m.s™%)

G A8, (82 Hrfedd 90 kmph wowd, 250 m Sgoe 353“3&» o Ben DEFw cg), ik
E000 dodd? (g = 10m.s72)

Options:
6 = Tan™! (-3—)
- 2

1, %
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2, %
L 8 = Tan™ (%)
2 3 @ = Tan™?! (—)

Question Number : 84 Question Id : 5447341044 Display Question Number : Yes Is Question
Mandatory : No

From the top of a tower 19.6 m high. a ball is thrown horizontally. If the line joining the point of
projection to the point where it hits the ground makes an angle of 45° with the horizontal, then

the mittal velocity of the ball 1s

19.6 m 80 &) 28 LAE Aot 28 Wod £ VATBEAVT IVTD. PEVS DodY

208050 2208 Zradd &8 Hodd €95 B £82 VAFBEANS 45° Eradm B, wod
a3, S 0 DA oth?

Options:

S
i 98 m.s

> % 49 m.s™ !

- = |
3 x 147 m.s

4 % 28 ms™t

Question Number : 85 Question Id : 5447341045 Display Question Number : Yes Is Question
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Mandatory : No

When a force F givenby F =61 — 18 ] + 10 k acts on a body, it imparts an acceleration

of 8 m.s 2. Then find the mass of the body

F=61-18] +10 ko uwo F a8 éno & 3B, 8m.s™2 &(6md) adyd6.

S G0

Options:

V115
— kg
1.« 4

2 n 10v2 kg

V115
3.8 2

115

AP EAPCET 2021

Question Number : 86 Question Id : 5447341046 Display Question Number : Yes Is Question

Mandatory : No

A car moving at a speed ‘v’ 1s stopped by a retarding force ‘F’ in a distance ‘s’. If the
retarding force were 3F, the car will be stopped 1n a distance
v A0S Do) T anwvin F’ HArRotitan S0 ‘s Erehn Hoirtod
0. DRV 3F 00N & 526 dod ErEAN DoIrton) Brideb?

Options:
s

1.« 3

AP EAPCET 2021
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Question Number : 87 Question Id : 5447341047 Display Question Number : Yes Is Question
Mandatory : No

When the mass and speed of the body are doubled. the kinetic energy of the body:
WS DAY AWE) @;550‘% 00080 Sé Gegn;’a) 008, &8 S IAFS Dodh?

Options:

becomes double
8803 e

becomes four times
TP B e

becomes eight time
DIDE Tew a0

remains unchanged.
- Ardsoet ?gdsbwrr &0

Question Number : 88 Question Id : 5447341048 Display Question Number : Yes Is Question
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Find the angle between the vectors A=21+ 4j + 4k and B =41 + 2 - 4k.

A=20+4] +4k 8o B =41 +2] — 4k »6%0 6| S

Options:
00

1.8

)y 45°

3, # O

. 90°

Question Number : 89 Question Id : 5447341049 Display Question Number : Yes Is Question
Mandatory : No

A simple pendulum 15 vibrating in an evacuated chamber. It will oscillate with

28 RN VSN AP Baed ABS SodTL BB, TFA ST

Options:

Constant amplitude

DG oD DO SotTa
1.¢/ @

Decreasing amplitude

y SOBOR) SoDR 28a083e5° &otroN

Increasing amplitude

, g DODBD) S0 HBBS” &otraw

4, %
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Amplitude. the variation of which cannot be predicted
S0 DODAS” BrrEdyen S DT

Question Number : 90 Question Id : 5447341050 Display Question Number : Yes Is Question
Mandatory : No

A thin rod of mass ‘m’ and length ‘2" 1s made to rotate about an axis passing through its centre and

perpendicular to it. Its angular velocity changes from 0 to w in time ‘t’, What 15 the torque acting on the rod?

m @3 2 Te S0 s DS $6 TR Sodiw G, OF0 HEANT TS oL
Borren Sos0cyd) 8. ‘t” dedoahids’ Sekasd Hidw 0 Avod w 8 3008, & &6 s DA £76], dod?

Options:
ml?w
1.8 12t

mllw

2.8 L

mllw

3. v &t

4 mlilw
<R 2

Question Number : 91 Question Id : 5447341051 Display Question Number : Yes Is Question
Mandatory : No
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A flywheel having moment of inertia 10 kg.m? is rotating at 50 rad. s 1. What amount of

work needs to be done in order to bring this flywheel to rest in 10 seconds?

10 kg.m* acaq gravsand s9AS w8 AaFos g 50 rad. s~ Srdnd
AEMD) 6. 10 D00’ ©6 JTmRAE"IS T5erIS, BALIVI HA Jod?

Options:
1 % 1140017J

, » 1250017
5 % 1300017

4 % 145007

Question Number : 92 Question Id : 5447341052 Display Question Number : Yes Is Question

Mandatory : No

Two particles ‘P” and ‘Q’ describe SHM of same amplitude ‘a’ and same frequency ‘f" along the same
straight line. The maximum distance between the two particles is ay'2. The phase difference between the

particle is

Got) St ‘PT B0k Q" w8 WOV B2 Dotac: 28 SodM DB ‘a’ w8 3“:‘{):12)&‘)5&13 ‘'8
ROV} § BORADE 6 o, Dot Sew 3065 A% BP0 ay2. & S0 06 GTHEA

Options:

1 % Zero

T
2. 2
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Question Number : 93 Question Id : 5447341053 Display Question Number : Yes Is Question
Mandatory : No

. , . : ; m ' ‘
A simple harmonic oscillation 1s represented by x = A cos ({ut. + 1). Its speed 1s maximum

when ‘t" equals

ROVTT8)8 50D A0E), TRV & 0B DAEENAS APAFE. X =

Acos (wt +5). ‘t" cogy D Densty o 3 (0B,

Options:
T

1, % 20

Question Number : 94 Question Id : 5447341054 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

A communication satellite of 500 kg revolves around the earth in a circular orbit of radius
4.0 X 107 m in the equatorial plane of the earth from west to east. The magnitude of angular

momentum of the satellite 1s

500 kg SS[0°3 1R 2,8 DI GO wmapbm daE" Zrad totar 4.0 X 10" m
TGN (10 5TT6 SEE DENG Mok, Sy DS ShLB0A. EHHPD §eia
@) D aIog), HBATe

Options:
. % ~013x 10" kg.m®.s7*

, » & 130X 10" kg.m®.s7*

3 ¢ ¥ 0.58x%x 10" kg.m?.s7!

4 % N 258x10" kg.m* s

Question Number : 95 Question Id : 5447341055 Display Question Number : Yes Is Question
Mandatory : No

The rotation of the earth (of radius R) about its axis speeds up to a value such that a man at

latitude angle 45° feels weightlessness. The duration of a day in such a case 1s

R J“'Sﬂ‘gm) (L ZPad) 28 BE0 DBV I BVIFL) w8 eV 6L Hdodo

OPB0B. & 0 5 45° wFod &30 90 GR) DA TG GBI OPHTE. BB
’aocéde)anﬁ‘ 28 O S5

Options:

(V%)

L

2. ¢
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Question Number : 96 Question Id : 5447341056 Display Question Number : Yes Is Question
Mandatory : No

When a 8 m long wire 1s stretched by a load of 10 kg.wt. 1t is elongated by 1.5 mm. The

energy stored in the wire in this process is (g=10 m.s7%)

8m Tepo $8A% w8 i 10 kg. wt &roely SAdodowswRd S’ 1.5 mm Frbese
sOA0A. wowd e 3" Joad) 38 (g=10 ms7?)

Options:
e BiaSd

1. %
5 % 0.057]

3. % 57

4 00757

Question Number : 97 Question Id : 5447341057 Display Question Number : Yes Is Question
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In a vehicle lifter. the enclosed gas exerts a force *F’ on a small piston of 8 cm diameter. The
pressure 1s transmitted to a second piston of diameter 24 cm. If the mass of the vehicle to be
lifted 15 1400 kg. then F must at least be (g=10m.s7%)

TPTOR o ahodans” eddan Bdobedd Foks” 8 cm TR sDA% W)
200830 DA ‘F’ w0an Hoirfosndod. 6 HESAD 24 cm TR DA% Boctsd
IV BERIREY ‘g&denﬁo&. ISV T N0 o8, gblstr%‘ 1400 kg, 008 w0
‘F' (g=10m.s7%)

Options:
1. « 1600 N

, % 1200N
5 % 1800 N

4 % 700 N

Question Number : 98 Question Id : 5447341058 Display Question Number : Yes Is Question
Mandatory : No

A body cools down from 52.5 °C to 47.5 °C i 5 munutes and from 47.5°C to 42.5°C i 7.5

minute. Then the temperature of the surroundings 1s

w8 S0 52.5°C Aok 47.5°C & 5 Adwoarod” B0k 7.5 Adwared'47.5 °C ok
42.5 °C 8 tRWGB. DBVG FroTrw &al'(id

Options:
;. % 39°C

, % 35%
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5 » A3

4w A5

Question Number : 99 Question Id : 5447341059 Display Question Number : Yes Is Question
Mandatory : No

Two plates of same area are placed in contact. Their thickness as well as their thermal
conductivities are in the ratio 2 ¢ 3. The outer surface of one plate is maintained at 10 °C and

that of the other at 0 °C. Temperature at the common surface 1s

28 DTN SOA Bod D \6\E" &) D. T8 AoocsAn oBakw &R TIrEE(w 21 3
NS G 2. ePr| GOBSLANDY G&D) DA 10 °C LHBAE) 60 0°C I¢ &) ).
900 améd 30 ﬁggé

Options:
1. % 07°C

> % 25°C
3. o B

2 u E5°C

Question Number : 100 Question Id : 5447341060 Display Question Number : Yes Is Question
Mandatory : No
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A
i [ e W B
Work done by a gas n the process shown in the figure will be P

& 808 HHAVS’ BrHR DS’ k) BHN HI

W

Options:
Positive

@mé&s::m
1. %

Negative

mwéés.ﬁ»
-

Zero
%\J"&‘)ISJQJ.J

i

Can’t be determined

Q0B orded 0
4. % @

Question Number : 101 Question Id : 5447341061 Display Question Number : Yes Is Question
Mandatory : No

The efficiency of Carnot heat engine

58 &) OoGH IS, BES

Options:
1s independent of the temperature of the source and the sink
, BOSI0 20B0I Vob © &I BBD BEEDEM

2.9
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1s independent of the working substance
D) wgang B 0DED

can be 100 %
3 % 100 % &obtod

1s no affected by the thermal capacity of the source or the sink.

2080 B0 NS © egavmgsan;g Zln e roleden s
4, %

Question Number : 102 Question Id : 5447341062 Display Question Number : Yes Is Question
Mandatory : No

In a thermodynamic process the pressure of a fixed mass of a gas is changed in such a manner

that the gas released 30 joules of heat and 18 joules of work was done on the gas. If the initial

mternal energy of the gas was 60 joules, the final mternal energy will be:

G108 DS’ TOWY Qcs 18] 5 260 Axdakw 30 6230 DY ©and ?86 B5(0°3
o TO0Y S, DR 28 ::gaes‘ Srg)doed. TaknY s, §O wodsd 38 60 ]
08 S08 BoB08 3§ dod?

Options:
1 % 321
> « 481

3 % 72.J

4 % 9617
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Question Number : 103 Question Id : 5447341063 Display Question Number : Yes Is Question
Mandatory : No

If  and 8 be the volume and pressure coefficients respectively of an 1deal gas, then
@ 00050 f 99 WS B, TroiY) aS), AVBATER B DGR KIRTL ©oNd,

Options:

1,\%“:3

2% a>p
3. x 2a=p

4. <P

Question Number : 104 Question Id : 5447341064 Display Question Number : Yes Is Question
Mandatory : No

The speed of the sound in Oxygen 0, at a certain temperature is 460 m.s~*. The speed of the

sound in Hellum He at the same temperature will be (assume both the gasses to be 1deal)

8 dahdd &8 56 83 udE” G Hidw 460 m.s~". 0B et 3¢ FOaHS" ¢
0 (Botior 5636 TOYRIT GeToPew)

Options:

. » 330 m.s™

7, 1420 m.s™?

=
3 % 500 m.s
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4 % 650 m.s !

Question Number : 105 Question Id : 5447341065 Display Question Number : Yes Is Question
Mandatory : No

The radius of curvature of the face of planoconvex lens i1s 12 em and its refractive index is 1.5.
Then the focal length of the lens 1s;

8 DBV LoFEE LA T, ST TG 12 cm S0dak 8B bragitw 15
00D TR aos), a°§5oééan Qodh?

Options:

1 % 26cm

> % 22cm

3 ¢ 24 cm

4 % 20cm

Question Number : 106 Question Id : 5447341066 Display Question Number : Yes Is Question
Mandatory : No

A circular plate sheet of radius 10 em is placed in a uniform electric field of 23 x 10° N.C ™%,

making an angle of 60° with the field. Then find the electric flux through the sheet.

10 cm 80 SBAS w8 3)gs°6 e 2V3 X 10° N.C™* 8230 DA% 28 Dty §8:m0¢
ol NB. TTE DuE F3308 B Sndn 60° ead, & Hug Mot Jab (S SDT W

Options:
, % 1.36X10* N.m?.C™*
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5 ¢ 942x10® N.m?.C™!
3 % 0.515 X 10° N.m?2.Cc™ !

4 % 0515 x10* N.m?.Cc™!

Question Number : 107 Question Id : 5447341067 Display Question Number : Yes Is Question
Mandatory : No

When a 0.75 uF capacitor 1s charged to a voltage of 20 V. then the magnitude of charge on

each plate 1s

0.75 uF 3ar%e) $DA% 2,8 3306 20 V & ed3do Sobed.d. wand w§) 3JHnd
D8R Golh 8D OO Jod?

Options:
1« 15 uC
> % 10 uC

4 % 12pC

Question Number : 108 Question Id : 5447341068 Display Question Number : Yes Is Question
Mandatory : No
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Four pomt-charges are placed at the vertices of a squareof 28m

| +20nC 7 +0ne
& 4 .

side 2.8 m as shown in the figure. Find the electric potentia

at the centre of the square.

28m

28m Zadn SOA w8 SA0RAL g, Tk 3T
56 008" P Do Dot BT Eorsel. 0.

¥
003, & 500 docssn 36 DS TOJ0HE Dod?  +16nC _34nC

Options:
| % 450V

3 % 405V

4. 378V

Question Number : 109 Question Id : 5447341069 Display Question Number : Yes Is Question
Mandatory : No

Number of electrons flowing per second 1s a conductor carrying a current of 9 A 1s

9 4 DSOS DI TTEANS” ERD PP QT Vo] Jod?

Options:
. x 3X107

5 o SBNAE

. % 56%10%
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20
4 = 3%X10

Question Number : 110 Question Id : 5447341070 Display Question Number : Yes Is Question
Mandatory : No

A magnet of magnetic moment 2 J. T~ is aligned in the direction of magnetic field of 0.1T.

What 1s the net work done to bring the magnet normal to the magnetic field?

21.T7" 0033 08 erausw SOAD 2,8 Gotk 0D 0850 0.1 T €0 08 £ B35
&3)8. A £8°I8 vordorr TIAVEAN St S BOHBVID DA

Options:
1 % 0.1J

5 o B2

1.0J
4. 8 2.01J

Question Number : 111 Question Id : 5447341071 Display Question Number : Yes Is Question
Mandatory : No
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A thin flexible wire of length ‘L’ 1s connected to two adjacent fixed

points and carries a current ‘I’ 1n the clockwise direction as shown.

When the system is put in a uniform magnetic field of strength ‘B’

going into the plane of the paper. the wire takes the shape of a

circle. The tension i the wire, after acquiring the circular shape s~ o

o]

TEY ‘L™ 0 28 ) SoferAS DD S Botd D04
rR0R) 9),08), Dot o) D6, SIS oS ‘I R
B0 DI B. © S0 B AL TIEAN
SHSAE'AS &) ‘B’ A4 o DSBS oI 08 G0’
GOOT. SR\ O BN BSCINI SNV, 8 ' SIS

Options:
. % IBL

IBL

3N

IBL
3.« 2W

IBL
4. % 4m

Question Number : 112 Question Id : 5447341072 Display Question Number : Yes Is Question
Mandatory : No

Torques 7, and 1, are required for a magnetic needle to remain perpendicular to the magnetic
fields B, and B, at two different places. The ratio B, : B, 1s

B; £)8050 B, 000308 ET0S” 08 €007, 08 AP VoRHIT St N6
&r0), 00 ORI 7; B 7, oS B, ¢ B)=

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



Options:

1 % Tz:rl

2. T1° %2

T1+T2

T1— 72

T1— T2

4 8 TEtlp

AP EAPCET 2021

Question Number : 113 Question Id : 5447341073 Display Question Number : Yes Is Question

Mandatory : No

The initial rate of mcrease of current when a battery of emf 6 V 1s connected in series with an

mductance of 2 H and resistance 12 () 15

6V Deojerywsarudn $BAR erd 2 H 200 2080k 12 0 Aeand 36° domraaw
59 NS DT DG §'B B dods?

Options:

Vs

2 % ].AS-I

3.V

4% 2As™

-1
2 05As

34s !
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Question Number : 114 Question Id : 5447341074 Display Question Number : Yes Is Question
Mandatory : No

In the given circuit, find the energy stored in

the coil at steady state. 20)

’ . : 5() 5H,20Q | 100
28085 BroR Suahand’, 20 igaes“, MWD AW
20808 e Gl 33

250
Options:
x 2.13J

1™
2. % 211)

3¢ 0]

4 % 2137

Question Number : 115 Question Id : 5447341075 Display Question Number : Yes Is Question
Mandatory : No

Suppose that the electric field of an electromagnetic wave in vacuum 1s
E=(31N.C™) cos[(1.8rad. m 1)y + (5.4 X 10° rad.s~*)t] i. What is the wavelength A7

waﬁmes‘ &) 28 Dcaa5¢aisa=bua Borin ahos), S EGw
E=(31N.C") cos[(1.8rad. m™Y)y + (5.4 x 10° rad.s1)t] T ewand 860iRGA0 4 dos?

Options:
1. ¢ 3.49m

5> % 3.590m
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2 % 3.40m

Question Number : 116 Question Id : 5447341076 Display Question Number : Yes Is Question
Mandatory : No

The study of photoelectric effect 1s useful in understanding:
ﬁﬁams%bam & 308 T¢5° BAD 32 BR08 D606 EDATHDEIBRS ?

Options:

Quantization of charge
5% S (oISl

Quantization of energy

, o 38 S(otIS6EBN

Conservation of CLICTEY
3S DB

3, "

Conservation of kinetic energy

L v 00 #8 Dagasn

Question Number : 117 Question Id : 5447341077 Display Question Number : Yes Is Question
Mandatory : No
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When electron i hydrogen atom jumps to the inner most orbit. the radiation emitted belongs to

which one of the following series?

TEED D6ATPHS'Y QTS (o8 500 ssiges‘né ErED\ 0 s 86 & Sobd
2 3638 2oe)oBo)HA

Options:

Paschen

. T8y

Balmer

a wv&é

Lyman

3, v B0

Bracket
4 % SO

Question Number : 118 Question Id : 5447341078 Display Question Number : Yes Is Question
Mandatory : No

1 amu 1s

1 DE507E BO(T°F DAT°EIAD DD

Options:

. x 931KeV

, % 931eV

3 » 931 MeV
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4 % 9.31 MeV

Question Number : 119 Question Id : 5447341079 Display Question Number : Yes Is Question
Mandatory : No

C g s T '8 I
In the following common emitter circutt, if § = 100, + + d
Veg = —7V. Vpg 1s negligible. R =2 kQ. then Iy =? R 2 Re

HLANS’ G:0) ¢ G070 SUADAD raT. f = 100,
Vg = —7V 008 Iy = ___ (Vg ) Botsideinn)

Options:
1 % 0.01mA

> 0.04 mA

3 % 0.02 mA

, % 0.03mA

Question Number : 120 Question Id : 5447341080 Display Question Number : Yes Is Question
Mandatory : No
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In a communication system operating at wavelength 800 nm. only one percent of source frequency 1s
available as signal bandwidth. The number of channels accommodated for transmitting TV signals of
bandwidth 6 MHz 15

800 oo 56 HED 00 508, 18 To ng a8 FdiYAn 406
o nd &
ST 0dR0d. 6 MHz D) déewy o TV RodTrom 9o SaHeRs 6w Dox

Options:
1
— x 10’
1.% 25
1
— % 107
2. % 21
1
— x 10’
3.v
— x 107
4 % 12
Chemistry
SectionId: 54473421
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :
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Question Number : 121 Question Id : 5447341081 Display Question Number : Yes Is Question
Mandatory : No

If a proton s accelerated to a velocity of 3 X 107 m. s™* which is accurate up to +0.5 %, then the

uncertainty in its position will be [mass of proton = 1.66 X 10™*'kg. h = 6.6 X 107* I.s]
3% 10" m.s™" ol Boddabrg us Jerd ard Stiods® 0.5 % e der(d) $9A &of)
@ 308’ 0 623380 [Jerd 638 = 166 X 10 'kg, h = 66X 107 ]

Options:
1 % 1.55 X% 107 m

5 % 3.24 X 1072 m

5 % 1.58x 107 m

4 Q,,Z.ll X 10713 m

Question Number : 122 Question Id : 5447341082 Display Question Number : Yes Is Question
Mandatory : No

Find the uncertainty in the position of an electron which 1s moving with a velocity of 2.99 x
10* em. s™, accurate up to 0.0016 %. (Given. m, = 9.1 X 10728 g, h = 6.626 X 1077 erg.s)

0.0016 % xD\88G08, 299 X 10° em. s S0 tsBordociod) s ciog), o8’ 638870
mm 0% §FR8? (TR @3 = 9.1x 107 g. h = 6.626 X 1077 erg.s)
Options:

1% 1.211 mm

5 % 299X 1071 mm
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3 % 0.121 mm

4 12.11 mm

Question Number : 123 Question Id : 5447341083 Display Question Number : Yes Is Question
Mandatory : No

If the uncertainty in momentum and uncertainty i the position of a particle are equal. then the

uncertainty i its velocity would be given by

w8 S0 A BI(M0E” BT3B BN T Fded” BAFBS(0 DATIZWS,

OV T Mol BAB\SS0
Options:

Av = E
1 ®

m T

Question Number : 124 Question Id : 5447341084 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following sequences is the correct order of the size of species?

35.3"2:: e3E G0 S0 SEPVL VotloBow) NBR S0 IB?

Options:

. u $¥FTRL

5 g S FSF

3 % I+3>1-3?I-

-~ +
4,«/! >3

AP EAPCET 2021

Question Number : 125 Question Id : 5447341085 Display Question Number : Yes Is Question

Mandatory : No

If the successive 1onization energies of an element A are 165. 190. 550 and 595 kcal.

respectively, then the ground state electronic configuration of element A is

A B VS S SOV e903DE66 ro;:PDJ Qeden 165, 190, 550 8o
595 keal @008 4 P0SY) e:.:"gcm QTS DT(RAW

Options:

. w [Ne] 3s% 3p?

, x [He] 2s'

3 % [He] 2s? 2p?

4 v [Ne] 352
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Question Number : 126 Question Id : 5447341086 Display Question Number : Yes Is Question
Mandatory : No

How many oxides among the following are basic i nature?

Sod &3 & 0’ D) =6 e Gen?

ASzog . Nﬂzg 4 MQO - anO:; = Gab) , Zn0 Nzo .. N205

Options:

v

Question Number : 127 Question Id : 5447341087 Display Question Number : Yes Is Question
Mandatory : No

Which 1s the most covalent?
DO 9O S, DBOAT2RE A(ErDo SOA GocHo?
Options:

.« AlCl;

, o Al

3 x Mg I
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4_3¢Nﬂ1

Question Number : 128 Question Id : 5447341088 Display Question Number : Yes Is Question
Mandatory : No

Addition an electron to an Antibonding molecular orbital

28 e9De0Rs v&aeré S 28 aogsm 66;)&

Options:
mcreases bond — order
200 SAT°0S0 DA

1. =

decreases bond — order

8306 SAT°0EA BRI
2. o

stabilizes the system
3 % 55555":35.) fé)désan DTN

decreases the inter-nuclear distance

i 29080 SoQS BIrGE SO

Question Number : 129 Question Id : 5447341089 Display Question Number : Yes Is Question
Mandatory : No

In which of the following 1onization processes the bond energy increases and the magnetic
behavior changes from paramagnetic to diamagnetic?

$o0s RWAES LADASEN HEADOS” LoEs BN, FT° L) 08 G360 R00d) Coir
007,08 BT I8 53 HEA ABotdec..

Options:

1. %
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Question Number : 130 Question Id : 5447341090 Display Question Number : Yes Is Question

Mandatory : No

Among the following, Van der Waals constant ‘a’ would be maximum for

Totd TS ?gﬂ"nssﬁn ‘0’ Dend ABRAT SOA Gl ToINY S0 TVS AB?

Options:

3 x CHy

4. NHs

Question Number : 131 Question Id : 5447341091 Display Question Number : Yes Is Question

Mandatory : No

The Kinetic energy of one mole of any gas depends upon

BT W8 A0°S T0I0Y W), (B 3§
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Options:
pressure of the gas
| % TOS0D) DEDIW

volume of the gas
% SJPOI) A DT"EIN

nature of the gas
. P03 "ebsa,ra;‘.m

absolute temperature of the gas

4 o T 262 a6

Question Number : 132 Question Id : 5447341092 Display Question Number : Yes Is Question
Mandatory : No

In each molecule of carbon tetrachloride, the mass percent of carbon and chlorine respectively are
and

56\ OErE0EY’ 6, S wBat §830 BS(03 Tdo enden AT Bak

Options:
1. % 76 .86 & 23.14

) & 7.84 & 92.80

. x 23.14 & 76.86

4 % 7841 & 9.25
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Question Number : 133 Question Id : 5447341093 Display Question Number : Yes Is Question

Mandatory : No

When equal volumes of Helium and Neon at same temperature and pressure are mixed. the

ratio C, : C, of the mixture equals

28 G0 2080k BE0 6 VAP DVBAFTL o PDatbo 20Bak0 Aakrd

TOINPHOR D30 FTW. Y@ C, ! €, A

Options:
1,% 3395

3, vt B

Question Number : 134 Question Id : 5447341094 Display Question Number : Yes Is Question

Mandatory : No

Which among the following are true for an irreversible 1sothermal expansion of an ideal gas?

85656 TOHVYY) T, amgmeioﬁs NATHS :J°5§° BHADIL Noodo) $08 AoHaVLS’

D) ABA
@) wW=-¢
(m) AU=0
() AH #0
(iv) AT =0
Options:

Only (i). (i) & (iii)
w0, (i) & (iii) g0

AP EAPCET 2021
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Only (1). (i1) & (iv)
5 (1). (i) & (1v) Srrga

Only (ii). (iii) & (iv)
s (D). (i) & (V)28

4w @ (D). GiD) & (V)

Question Number : 135 Question Id : 5447341095 Display Question Number : Yes Is Question
Mandatory : No

Which among the following pairs constitute a buffer?

BHHD ATFDeDD DETT'L 2oLVS, D 2ok WDE TOTA) W?

Options:

. % LiOH & LiCl

, « HNO3 & NH,NO;

, o HNO; & NaNO,

4 % HBr & KBr

Question Number : 136 Question Id : 5447341096 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

If the concentration of Ag* ions in the saturated solution of Ag,C 0 is 1.20 x 10™* mol. L™,

then find the solubility product of Ag,C0;.

Rody) Ag,C0; mrames’ Ag™ woirde med 1.20 X 107* mol. L™ eand Ag,C0;
aiog), Erotabe SAER

Options:
, % 530x107"

5 u 450 w10~ B

5 u 266X I82

4 BIFXRTEE

Question Number : 137 Question Id : 5447341097 Display Question Number : Yes Is Question
Mandatory : No

Hydride gap corresponds to elements of

rEl 29 D ATCUSTLL) DotloBoDE

Options:
Group 7.8.9
1 & (e 7.8.9

Group 13
5 % (3° 13

Group 15.16.17
3 % (ored 15.16.17
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Group 14
4 % O 14

Question Number : 138 Question Id : 5447341098 Display Question Number : Yes Is Question
Mandatory : No

Which of the following metal ion plays an important role in muscle contraction?

$08 "I LOIrdVY” B SokTud'd ATTY DAV JNVOD TS T Aok’

Options:

), » Fe*?
2. v Ca**

4. % Na’

Question Number : 139 Question Id : 5447341099 Display Question Number : Yes Is Question
Mandatory : No

The stability of +1 oxidation state increases in the sequence

+1 5848683 DS CINE), VOB DBAE S30IN

Options :
1 % Ga<In <Al <TI

2‘\?141 < Ga<In<Tl
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3 x Il <In<Ga<Al

4_31;”:?"1«:6&{,4?

Question Number : 140 Question Id : 5447341100 Display Question Number : Yes Is Question
Mandatory : No

Identify the mcorrect statement about Si0, (silica) from the following:
§i0; (N8%°) £ DoroGo) 0bd VIVTVS" VB 52D PIBTV) HBowsrad:

Options:
It 1s highly reactive due to low Si — O bond enthalpy.

. ©2) Si— 0 w06 Domrdy 0D ©B8 S BTG SBA Gotwed.

It 1s a covalent three-dimensional network solid.
- 98 330H S (o PBWTBACDL WD DEGIW.

Quartz. the crystalline form of silica. i1s used as a piezoelectric material.
205 Y88 ErDRD SGEW B’ DS DTGB EHABTHI 0.

An amorphous form of silica 1s used in filtration plants.
25 g, 28, OIS Xy HEJ'S DBFVS” EDATAI .

Question Number : 141 Question Id : 5447341101 Display Question Number : Yes Is Question
Mandatory : No

Which region of the atmosphere is the domain of all living organisms?

TTDOAD CIE), D DI’ EIHTTAVLN ARG Bt ?
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Troposphere

1 & @6:564-0301)5

Stratosphere

Fe5 D \a06

2.8 &£

Mesosphere

BRSNS
3. %

Thermosphere

4 % 58&23:)01)5

Question Number : 142 Question Id : 5447341102 Display Question Number : Yes Is Question
Mandatory : No

Based on the [UPAC system. tertiary butyl group 1s named as

TUPAC Deraddnp eerend 68ahd aare 0l fo Hdd

Options:

2 — methylpropyl
1P 2= DFS TS

2, 2 — dimethylethyl

Y i 2,2 — GRS &3S

2 — methylbutyl

, g B OPES (e85

1,3 — dimethylbutyl
L 1,3 — 2peS ewrjeres

4 %
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Question Number : 143 Question Id : 5447341103 Display Question Number : Yes Is Question
Mandatory : No

Identify the structure representing * 3 — oxo 2 — methyl hex — 4 — enal "
'3 — 8y 2 — PS8y — 4 — &S S oo DA?

Options:
0
H'iC)Kf/-\/\CHO
CH,
0 0
HM/\
CH,
M 4
M/
CHO
0 CH,
0 OH

H.C

3. %

Y

1%

4. %
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Question Number : 144 Question Id : 5447341104 Display Question Number : Yes Is Question
Mandatory : No

Which statement regarding the following structures are true?

S08 e55,BOVL VotroBor) VBV DIWVT°V) 1BotsdAW.

HOy, COOH | HOOC 0N
f/k_qﬁ;- ;;F_—\\COOH
HOOC - HO
(4) (B)
OH
HOT;h_l/,COUH 04, COOH
N h
HOOC iy, Hooc’)__qﬁ;
H OH
(C) (D)
Options:

A and B are diastereomers. C and D are enantiomers

: A B3 B e d&r%&@‘m@. C S0dasw D ewn D:J‘QCﬁJ‘:&JQJ

A and B are enantiomers. C and D are enantiomers

, A D0B030 B e dTYCATE. € 208050 D e dQOH08

A and B are enantiomers. C and D are diastereomers

, A 20B0in B oo d3Q0uriud. € 2080k D en O3B ORI 208D

A and B are diastereomers. C and D are diastereomers

A 208050 B 0 Eairadcirad. € &850 D en Goirrdairandd
4. ® & ™ €5 =

Question Number : 145 Question Id : 5447341105 Display Question Number : Yes Is Question
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Mandatory : No

How many unit cells are present in a cube shaped 1deal crystal of NaCl of mass 1 g?

28 T @A[o-3riv mws;aé‘mal 366, 3w NaCl " 0 0 DeTew Ay ?

Options:
. % 5.14 x 10*

5 x '1.28 x 10%4
3 % 171X 107

4 o 25T

AP EAPCET 2021

Question Number : 146 Question Id : 5447341106 Display Question Number : Yes Is Question

Mandatory : No

The elevation i boiling pomt of a solution of 10 g of a binary electrolyte (of molecular mass

100) i 100 g of water 1s AT},. Then the value of K}, for water 1s

100 g A8° 10 g osorl) DeogBEnsw (896 eiofdraisin) s &) mrandw
G0E), TSI T 6)8 AT,. W g K, dens

Options:
ATy
1.« 2

2, % 10

4 10T,
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AT
10

Question Number : 147 Question Id : 5447341107 Display Question Number : Yes Is Question
Mandatory : No

A gas X 1s dissolved m water at 2 bar pressure. Its mole fraction m the solution is 0.02, Find
the mole fraction of water in the solution when the pressure of the gas 1s doubled at the same

temperature.

X 0 2,8 o0 2 bar 63w 3¢ AS" $oferdd. Tranwe’ T Ard eridw
0.02. 08 6T 56 o SERF) 0o B, ¢ TIVAS’ I AreS eriw

Options:
. » 0.04

, % 0.98

Question Number : 148 Question Id : 5447341108 Display Question Number : Yes Is Question
Mandatory : No

The molar conductivities of KCl, NaCl and KNO, are 100. 120 and 90 cm®. mol ™",

respectively. The molar conductivity of NaN0; would be em®mol ™,

KCl. NaCl 0ai KNO; roere arerd orsdR) 200D ST 100. 120 Sdokw
90 cm?.mol™ eand NaN0; dwg), Arerd Tiredaw em®.mol™* 0&*
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+ A0

, % 290

5 » 310

4. ® 120

Question Number : 149 Question Id : 5447341109 Display Question Number : Yes Is Question
Mandatory : No

If the conductivity of a 0.5 M KCl solution at 298 K is 0.024 S.cm ™. then the molar

conductivity of the solution would be S.cm®.mol™?

208 K 368 0.5 M KCl grideastos aing), Trereaaan 0.024 5. cm™. e g g
rerd TS (S. em?.mol™t) &

Options:
1 % 150

2.v 48
3. % 24

4 % 1214

Question Number : 150 Question Id : 5447341110 Display Question Number : Yes Is Question
Mandatory : No
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Same quantity of electricity was passed through solutions of salts of elements X. Y and Z with

atomic masses 7 . 27 and 48 respectively. The masses of X . Y and Z deposited were

2.19,2.7 gand 7.2 g respectively. The valence’s of X . Y and Z respectively are

2657t G3(oH0L0 7, 27 S0Bai 48 WA o X, Y 080k Z 06w Grame dvod
28 S D) 6w Bwe. Jrodda X, Y S08aio Z G(orsoen Scrrr
219,27 g 280 7.2 g. X. Y 208050 Z & Roalragden S&wm

Options:
1 % 3,2and1

>, % 1,2and3

3,&1*3'3“(12

4 % 2,3and 1

Question Number : 151 Question Id : 5447341111 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): The property of adsorption is shown to a great extent by solids than liquids

Reason (R): Solids like charcoal. silica can act as good adsorbents

DB (A): 06 6 G BT Lol DET DS BrYTow
5600 (R): &6 §65, H05° 308D 0t) 8% H57e0r HABI00

Options:

A and R are correct and R is the correct explanation for A
| % A 6030 R 20 292008 <080k R, A SO 08 90 D566

A and R are correct but R is not the correct explanation for A
5 A S08a30 R D8 9003 50 R, A £ 20 90305 Dddee S°ed

AP EAPCET 2021
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A 1s correct. R 1s wrong

3 % A VO BVOVAG, R DO 90006 57

A 1s wrong. R 1s correct
4% A D0 00 57, R D0 20008

Question Number : 152 Question Id : 5447341112 Display Question Number : Yes Is Question
Mandatory : No

The acidic character of the group-15 elements in the increasing order 1s

(re -15 Lrese esgaév 230 A0 DENDEL AIS) DBV So

Options:
1 % A8203 < P203 < Bf203 < Sb203

> % A3203 s P203 < Sb203 < szOg

3. ¢ 81‘203 o szOg < ASZO3 < P203

4 % Sb203 < A3203 < P203 < szOg

Question Number : 153 Question Id : 5447341113 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not given by S0,?
BHD B(S° SO, 2WDS S| DB?

Options:

1. %
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It converts acidified iodates to 1odine
€5:00500¢8 90IFELS O BAITFCITT AFEND

It decolorizes acidified KMnO, solution

) e3:200308 KMnO, <O :Dbga‘:n) IO

It reacts with acidified potassium dichromate to form green colored solution

R Teraoio EE DN LD FrHEIT HE0N

It reacts with green colored ferrous sulphate to form yellowish brown ferric sulphate

4 o O BDOOND DO D0 Eromant’ 86 Jod, AEo dor 288 RO I Srodo

Question Number : 154 Question Id : 5447341114 Display Question Number : Yes Is Question
Mandatory : No
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Match the following:

Molecule Geometry
(a) XeF, (1)  Trigonal Pyramidal
(b) XeO; (11) Distorted octahedral
(¢) XeFg (111) Linear
(d) XeOF, (1v) Square pyramidal
So8 TP e WAV
e£0eY) 35,3
(a) XeF, (1) gff DS OGS
(b) XeO, (i) DETO BodD E‘QQDS!D
@ Xek, (iii) B8odo
(d) XeOF, (iv) SS6R Areefsoan

Options:
o (a=iii), (b—i),(c—ii),(d—iv)

5 % (a—iv),(b—iii),(c—ii),(d—1)
(a—iii),(b—1),(c—iv),(d—ii)

3. =

4 » (@a—iv),(b—iii),(c—ii), (d—1i)

Question Number : 155 Question Id : 5447341115 Display Question Number : Yes Is Question
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Which among the following doesn't form a white precipitate with AgN 05 solution?

S08 Rogs) VA VTS’ DO TINING 3P BBFDIN I6Y6KE?

Options:
|Co(NH;) |CL,

1. %

, « [Co(NHs) Cl[cl,

- [Co(NH3),ClL]CL,

4 o [CONH3),CLy]

Question Number : 156 Question Id : 5447341116 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is most paramagnetic?

S0d e9airo0es” B3 OBBS &U"e&a‘bb‘boé SSB0 £0A cod?
Options:

;% [C-r(Hz O)G] a

= [Fe (H20)6]2+

. [cu(#,0),]"

[Zn (H20)2]2+

4, %
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Question Number : 157 Question Id : 5447341117 Display Question Number : Yes Is Question
Mandatory : No

In an amino acid. the carboxylic group 1onizes at pH= 2.56 (pKa, ) and ammonium ion

jonizes at pH = 9.38 (pKa,). The isoelectric point of the amino acid is at

28 DAY AW &) 5707340 A VA (e pH= 2.56 (pKay) 56 0Bk
v:ﬁr&boﬁaa eosr&0 pH = 9.38 (pKa,) S 90DNEBRAD Do), &8 IWS e300
aws), ~ 1% JTES F00085 96 Gt

Options:
1 % 11.94

, % 6.82
5. v 597

4 % 341

Question Number : 158 Question Id : 5447341118 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following Wurtz-Fittig reaction.

BAD BV &F - DOA V(S &S D)o IB?

Br
(i) Na

(ii) CH4Br

Options:

1%
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oy

f

H

2.V

@i )
3. % Br

@ Na

4, ®
Question Number : 159 Question Id : 5447341119 Display Question Number : Yes Is Question
Mandatory : No
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When 1 : 2 equivalence ratio of the gases X and Y are heated to 573 K — 673 K at 200 —
300 atm in the presence of Zn0 — Cr, 04 catalyst, methanol is formed. Here, the gases X and

Y are and respectively.

1+ 2 ooerdo A @S') X SoBoswy ¥ e, 573 K - 673 K dwdai 200 -
300 atm DG 288008 Z10 ~ (1,05 68650 D058 t56] 20200YE DBSS
A0\CAB. X 0Bk ¥ Traineden a7

Options:

. x CO; & H,

, » CO & H,
, x CHy & 0,

CH, & H,0

4. % (g9)

Question Number : 160 Question Id : 5447341120 Display Question Number : Yes Is Question
Mandatory : No
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The total number of Sy 2 (Nucleophilic substitution bimolecular) reactions involved in the

following reaction sequence is

OCH;

HI (excess)
>
High Temperature

0CH,4
& W00 @DE &A) Sy2 BT DETTL ASAD Vo

OCH,

HI(e960)
>

0i$ el (o
0CH;

Options:
1.¢ 3
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